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1.

( Main Courses of Indian History )

feffre @iwem ool e
St-eq B o8 fmiea oy fifest?

- Who among the following lcaders

led the Revolt of 1857 in Lucknow?

fa) A< N2MF “ﬂ"f ]
Khan Bahadur Khan

(b) (Ted! wizwear [

Maulavi Ahmadullah

() s wE [

Liaquat Ali

{d} @ s vz [
Begum Hazrat Mahal

ST WO IR WiE YIRM Ao
RICRG (&l koo L
Lt ? :

Lucknow Pact between the Indian

National Congress and Muslim
League was signed in which year?

fa) Sa5uL o8 [
1916

{b) »s>a® [
1917

fc) >»xovq8 [
1920

(d) 533578 []
1922

/419-B

3. s @ aurre SO FEE

Sheb-0q BAg AT e wEwe
EICE S ECR:
In which of the following provinces,
Congress had attained full majority
in 1936-37 provincial clections?
() @z [

Bombay

h) e [
Bihar

fc} w1 L]
Assam

{d) NWrp (]

. @R BTS TR ARG P ENole] o)

itfes 7

In which of the following vears,
Mahatma Gandhi did not visit
Assam?

fa) So30 O
1920

(h) 53> [
1921

fc} S»xb [
1926

{d) sses [
1934

5.

TR @I AR NREEeR SR
wifeET 7 - -

Mathura, the famous city, was
the capital of which ancient
Mahajanapada?

fa} “TIW _|:|
Panchal

(b)asﬁﬂlj

Kasi

¢} 3% 0

Kuru

fd Femr L

Surasena

CTMew T58 A1 JFHAS” FLFSE (e
w2

Buddhacharita, the epic biography
of Gautama Buddha in Sanskrit,
was written by

fa) sz [
Ashvaghosha

(b} T=ghe [

Indrabhuti

{c) W‘ﬂ O

Asanga

(d) @ffem O

Bodhisena

/419-B

7. P SToreid @I @RI A AR

AR wifiezt ?
Which metals were known to the

people of the Indus Valley
Civilization?

(a) O™, IS, F1, oW BFE @
= [
Copper, bronze, silver, gold but
not iron

(b) ¥, %, @ TR g = [

Copper, silver, iron but not
bronze

{c} o, o, @ g g O

Copper, gold, iron but not
silver

{d) =i, T4, @i o ot wmy L]

Copper, silver, iron but not gold

8. B eroM (AT HiES g5 WSIR

¢olat Oatfst 9

" In the Indus Valley Civilization, the
" Great Bath was found in which

among the following sites?

(o) TgmE O

Mohenjo-daro

(b) ==& []
Harappa

{c) S{7F T [

Surkotada

(@ @m O
Lothal

[P.T.O.



9. JEREWEY (PG IERTTY I 5T

10.

wifes] ?

Mahabalipuram was a porl city of
which of the following dyn:ustics?

(@) o= LI
Chola

(p) *Em 1
Pallava

) oo [
Chalukya

(@) Iee [
Kakatiya

e cm R e »idges
TR s 2

Which of the following rock
edicts is the largest rock edicl ol
Ashoka?

(a) SR PravferiE O
Twelfth Edict

(b) Som: Fefeife O
Tenth Edict

¢ se R O
Thirteenth Edict

(@) ss= a0
Fourteenth Edict

/419-B

11. (T 2pipRTs “SIF T AT e

In reference to Mughal Administra-
tion, Mir Munshi means

(ct) 4wl wieFs ol R [

censor of public morals

(h) iR JEER R L

head of the judiciary depart-
ment

() 1 S @ -l RSiE
yadr [

in-charge of charitable and reli-
pious endowments

() “Ar-poeres Rant [
in-charge of royal diplomatic
correspondence

12, 344 4fel T @ o o

wf{ &y

1hn Ratuta was a traveler from
which among the following current
nitiong?

o) eiteicerfa [
Algeria

() e L

Muarocco

() Blafet O

Tunisia

fel) tarm ]
Libya

13.

i4.

oiRe-2-Rraee®’ @IE o IR
Who amoﬁg the following was the

writer of Tarikh-i-Firoz Shahi?

(a) feieher a® O

Zianddin Barani

(b) gl Gees [
Ghiyasuddin Tughlaq

(e} wig@ wae [
Abul Fazl

{d) e Wo: Grms U
Firoz Shah Tughlaq

WWWW%
ifest ?

Kharaj, the most common. {ax
during the Delhi Sultanate, was
ajan

@) s O

Income Tax

(b} IR O
Agricultural Tax

(c) ofews [l
Wealth Tax

(d) ¥ w3 [

Religious Tax

/419-B

15.

16.

e s ST G MR e
Tt ?

Jama Masjid of Delhi was built in
which century?

(@) set U
15th

(b) s [
"~ 16th

¢ > [
17th

(d Sv [l
18th

S (rEErd JRES! I (IR Wi ?

Achyuta Deva Raya was succeeded
by which of the following kings?

{a) =6 | [
Venkata Raya

() SR <wiww O
Aliva Rama Raya

{c) Fg-whew [l
Vira Narasimha Raya

(@) g | O

Sadasiva Raya

[ P.T.O.



17. svea TR B9 Roazg e

18.

TEeAEd SRAT-(EHEA @ e ?

Duﬁng the 1857 Mutiny, who
among the following was the
Governor-General of India?

fa) T6 @ﬁa [
Lord Canning

(b} 7& @mtm [
Lord Elgin

(c} =6 sl [

Lord Dalhousie

(d) ¥ e O
Lord Ellenborough

RS @R 5 TIRE™ e
Tgws 33 3em @R SEae W
fe 2

- Which among the following waus

not annexed into the East India

.Company territories . via the

Doctrine of Lapse?
(a) orom| [

Satara

(b AseE U
Nagpur

/419-B

19, AW NN eoge IRy @I

20,

R PeRe] ?

Who among the following imposed
press censorship?

() =6 Tfraw @foee O

Lord William Bentinck

th) =6 srem [

Lord Curzon

() w6 @ [
Lord Wellesley

(ct) o6 e [
Lord Rippon

SRS ST Wl S5}% TS (FIG
s et ?

Who founded the ‘Naujawan Bharat
Sabha’ in 19267

{r1) TENLY Swm L
Chandra Shekhar Azad

) it o O
Surya Sen

{c) wsfs B [
Bhagat Singh

() £5. f8. ;g [
V. D. Savarkar-

UNIT—II

( Indian Polity and Human Rights )

21, TFINREE  WF AWAET  FEDEI

Bl el DIEC I R Bl
AL A

The International Covenant on
Civil and Political Rights contains

f@) ex -
52 Articles

B ¢o U
53 Articles

) es O
54 Articles

(dy e¢ 01
55 Articles

22, TESY T RewgnEie 2d

" The present Finance Minister of

India is

(@) ofs wE [
Amit Shah

(b) @t =rfy [
Rekha Sharma

(c) Toefent Srome [

Nirmala Sitharaman

(d) «sme 7=y [

None of them

/419-B

23,

24.

Isfat FHNe STTHER TS

The Narmada Bachao Andolan is
mainly

(a} AT @GP PR wiewew O

the Movement for the rights of
indigenous people

(b} A IR TieaeE L

the Environment Protection
Movement

(c) VI S-S weem O

the Women’s Rights Movement

(d} s7eg «bie 7= [
None of the above

Sleeefs @4 AEE e
W TR T2’
The maximum number of Members
in a Legislative Assembly of a State
in India is
{a} oo s L]

400

(b} oo T [

500

¢} 8o+ [
450

(d) ¢co & {1
550

[P.T.0.



25.

26.

oRedlR WM WeR oMYy T
TRt wifeE

The total Members in the
Constituent Assembly ol India were

(@ 8k ww [
489 |

(b) weo T [
350

fc) ors & [
389

(d} wax & L1
372

TIREE® AP WEw 2o ol

‘The Cit_izensh'ip'Act' in India was

passed in the year

@) >seo e [
1950

(b) SseevTe Ll
1955

o sseu e [l
1956

{d) Ssbovs L1

1960

/419-B

27.

28.

NSy AL PRI NS (I
NeleIfey I ?
Who presides over the Joint
Secssions of the Parliament of India?
) 3R O

The President

(hy st O

The Prime Minister

() @RS S [
The Speaker of the Lok Sabha

() Aeprer wefs [

The Chairman of the Rajya
Sabha

w4y TRy Pro I s Bl

et =17

Who s recognized as the father of
ithe Constitution in India?

() To R g, st O
Dr. B. R. Ambedkar

(h) sl @z O

Jawaharlal Nehru

(o) @, @ o\ O
M. K. Gandhi

{cl} To qiterm eom [
Dr. Rajendfa Prasad

29,

30.

ety PR W wfEeR s’
eifeDi tafem

The ‘National Human Rights
Commission’ = of India was
established in the year
(@) S55% 7% [

1996

(b} Ss3v0 vTe [
11990

fc) sssemre [
1993

(d} Sevy e [
1982

fy Wiwg St @ oW 4l 2y

World Human Rights Day is
observed on .

(@) >z L

15th August

(b) >8 FTTe Ll
14th November

(e} so fwEas
10th December

{(d) 28 WERTe [
24th Qctober

31. oREy RAYFE @WG O™ B

AfEiFRg oM Aifey dae T ?

Which Part of the Constitution of
India. deals with the Directive Prin-
ciples of State Policy?

(o) vom g [
Part III

(b) v =z [
Part IV

fc) s ey ]
PartV '

{d) & s [
Part 1

/419-B

32. SR WM @S SRR

33.

TP &Y ?[‘Fl@ o 57
Which Article of the Indian

Constitution deals with abolition
of untouchability?

{a} Segem v8 [
Article 14

(b} swpwm se [
Article 15

{c) s sy [
Article 16

fc) S=TRT 59 Ol
Article 17

fYe AP (P ATAT T TGP ?

ﬁ?ight to Peace’ belongs to which

generation of Human Rights?

fa) 2% oerR I W [
First-generation Human Rights

(b) Taom eerma qiwg SR [

Second-generation Human
Rights

(o) TR YETA Wme Wi ]

Third-generation Human
Rights

{(d) 979 Wi Wy [
None of the above

34, TEGHEEE AR SHORS @

TS S B9l C2iRE 7

In which year was the Anti-
Defection Law passed in India?

fa) sdie O
1975

(b ssvo O
1980

¢ >sve O
1985

{d) saso [
1990

[ P.T.O.



35.
. Right of life is a/an

36.

37.

Sleoid ORI CaTR Bl

{a) T e O
civil right

(b) qEIe wRE [
political right

{c) AfateE g [

 economic right

(d) °/T «ore 7z [

None of the above

NEGa TS coibifiea fufe Tam

The basis Adult
Franchise is

of Universal

fa) I7 [
age

() P O
education

(c) =ts [
property

(d) ST qore w2 ]

None of the above

RO AR AGPTS FE g
FR{pleT

The term of a Member of the Rujya
Sabha of the Indian Parliament is

@) ¢ 9= O
5 yvears
(b) &<eg U1
6 years
fc) a9 [
7 years
(d) » =3 [}
8 years

/419-B 10

38. IV THIG P |
Sustainable development means

(a) (TS TSN 2o« F4 [
only meeting present needs

(h) TER freq waefs O
progress in human well-beings
(¢) TEAT OE TS AT AR
a0 [

meeting present and future
needs

() S g O

population control

39, “Bereres yogoR w7 @I
BRI T ?
“Eternal vigilance is the price for
liberty.” Who said this?

() & <95, s O
J. 8. Mill

(h} A TR L

Thomas Jefferson

() ptef st l:l
Karl Marx

() s ot O
Mahatma Gandhi

40. - SR e, 20 57 1 oy wiifest

The theme of the Human Rights
Day, 2021 was

(1) Fqst O
Liberty

(h) et [
Equality
() s L

Justice

{ed) wigeR [ |
Rights

41.

42.

- UNIT-—III

{ Majdr Features of Indian Economy )

N AGIRE fERR Age Soae
wife '
The main aim of the Eleventh Five-
Year Plan was

fa) Wi et e [

removal of regional imbalances

(b) g, = W SesimEeel [
food, work and productivity

(c) =BEETa el [

inclusive growth

(d) wRwel @i O

eradication of poverty

ﬁ@ﬁ@%ﬁﬁﬁﬂﬁﬂﬁ@%-

The First Five-Year Plan was based
on the

(a) TR o [
Mahalanobis model

) F@ e O
Bombay Plan

() @T-Twm wfE [

Harrod-Domar model

{d) 8739 «hie w2y [

None of the above

/419-B 11

43. ‘TN @Y @A SNS 9 (ake

Jawahar Rozgar .Yojana’ was
launched in the :

fa) 1T 1R ARgsmre O
Fifth Five-Year Plan

(b} T iR “Resme O
Sixth Five-Year Plan

fc) B i s [
Eighth Five-Year Plan

(d) S T sfassas O
Seventh Five-Year Plan

44, MSME@IS 3% 3 ‘Mudra Yojana’
- e e w4 wafeE?

When was Mudra Yojana’ launched
for MSMEs?

fa) Rode [
2013

(b) ko038 L[]
2014

fc) kode [l
2015

(d} 2od% []
. 2016

[ P-T.O.



45, oEeR wLTfeq TaiEs ek

The characteristics of the Indian
economy are :

(i) e wels e

low per capita income
(i) =TCH feregat

disguised unemployment
(iti) 7 s

poor infrastructure

(iv) Wil SpErst

income inequalily

OO FqAIE PRI P e 4B AR
Terazr

Select the correct answer using the
codes given below :

Codes :

fa) (i), (ii} and (iii) O
(b) (i), (iii) and (iv) U
fc) ), (iii) and (iv) O
(d} @), (i), (iif) and (iv) [

46, 2057  CIHPRE WP ©i4ed
oiBiEelF @R weRy A9 eI (KR

According to 2011 Population
Census, the State with the highest
population density is

(@) “f*oxgs [
West Bengal :

(b) TeRgr O
 Uttar Pradesh

{c) @w1ls [

‘Gujarat

(d) Neger [
Madhya Pradesh

 /419-B
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47. 2030 HS YHEST @R ATTOR *Pj
Tr7iie <41 ST (Rl%

The highest pulse-producing State
in 2020 is

{a) Sgaee [
_Anclhra Pradesh

(b) s L
Madhya Pradesh

() Rzr O

Bihar
(d) st O

Karnataka

48. ‘I YU G P SBIID! TR

‘Kisan Credit Card’ was initiated by
which of the following institutions?

{a) RBI []
(b} NABARD [T
fct RRB [

() 1IDBI [

49. WIS GI6-RT @PE 4FH!
TG 4 e _
*I'he SHG-Bank Linkage’ project
was launched in the year
f} S35 oe [
1991

ih sesgvIs [
1994

¢} S0 [
1992

() S554 % [J
1997

50. ‘Briﬁging Green Revolution to
Eastern India (BGREIL’ ﬁwmw
TS ATET T4 T

‘Bringing Green Revolution to
Eastern India (BGREI) is being
implemented in how many States?

fa) + [1
8

) 1 0
7

() & O
6

() ¢ Ul
5

51. IDBI B 41 &%
IDBI’ was established in the year

fa}) S»v8 e [
1964

(b) 3581 e [}
1947

¢} Ssee e [
1955

(@ s»as s [
1971

52. SO WA T T TR
(RoRo-%3)® fffe Yt wiamiv T2R
The share of the construction
sector in GDP {2020-21) of Indian
economy stands at
fa) 4wo0% I

7-60% '
(b} 3% U]
12%
fc} 8% L]
4%
@ 4% O
17%

/419-B
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53. SKEY ST ey B e
- @R TR &R

The slow pacé of industrial growth
in India is because of '

(a) e Jeges srem [

lack of sufficient capital
(b) e et wew [

lack of infrastructural facilities
(c) GRS R

political factors

() S SFEAIAEE [

All of the above

54. Fu Toung Qe R[EEhE W
Ao 202

The maximum limit of investment
for a small-scale industry is

fa) ¢ @M% O

5 crores

() a @B O

7 crores

c) so &6 [

10 crores

(@) se @ O

15 crores

55. T ve ST oA Y9

Both the agricultural sector and
industrial sector :

(a) TG Feg [

are independent of each other

(b) FEGE ARe fsefie [

" are mutually dependent

(c) FTAGH IS (@I T4 w8 []

have no connection

(d) &79q wore w=w [
Neone of the above

[ P.T.O.



56. (FIMG Yad SROY wddifes witmers
e, SeAmTsI) Rorwet s 1% S

Which sector has cmerged as the
largest producing sector in Indian
economy?

fa) =i e [

Primary sector

(b) RRem =% afsfm ve [

Science and Technology sector

c) ¢Meiwe O

Secondary sector

(d) T %8 T o we [
Tertiary sector

57. TR @R e qbiERee @k R
I FE?

Which Indian State uses the
biggest quantity of fertilizer?

) o O

. Karnataka

(b) “g [
Punjab

(c) Seasaem O
Uttar Pradesh

(d) sy O

Maharashtra

/419-B
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58. F'a Ruw’ wfvs
‘Black Revolution’ is related to

() <iFal (oo Beoie Ties L]

crude oil production

(b) ¥iEZ Beom e [

mustard production

fc) I Beomwg Bres [
fish production

(d) T TRoER TS [

coal production

59. ‘The  National  Strategy for
Promotion of Tourism’ {6375 2FS
1 e
“The National  Strategy  for

Promotion of Tourism’ was drafted
in the year :

fa) S>5%ovs [
1996

(b} >5s3x 90 []
1992

f¢) Sadtoae [
1998

C{d) Ssby BTE [
1988

60. i AfpEEE WRE SR e
S o
The final approval of the Five-Year
Plans is given by the

fa) NITI SN O
NITI Aayog

(b} ©ige IFsifem 0

President of India

(c) Az Tawe Al [

National Development Council

(d} =& e [

Ministry of Finance

UNIT—IV

{ Basics of Education and Pedagogy )

61. (SRBIET B T TEE

One of the problems of adolescence
period is

(a) St R [

economic problem

v} e wpm O

vocational preblem

¢y @= e O

sex problem

(d) Tz ey O

problem of love

62, IPF ArFTs N’ wiTw e

The ‘National Literacy Mission’ was
started in the year

(@} Ssve e []
1995

(b) Sovb 5[]
1988 '

{c) Ssbe v [
1985

{d} xoco e [
- 2000

/419-B | 15

63. TG a2

The fechnique of adjustment is

fa) TRy [

compensation

{b) ARSI O

socialization

(c) sme [

conflict

(@) AtEees O

assimilation

64. CAITFER T
CAl is used during

(a) $560T *_i 10t [
1960-70

(b) Sxaoq o=l wata [
1950-60

(c) 55303 @ volst [
1970-80

(d) $5eeT [ vetEm O
1955-65

[ P.T.O.



65. P« feonfirs ofiml | @3 3
Tlem

“Education is a tripolar process.”
This statement is said by

@) «RE%a [
Aristotle

(b) &= &% [
John Dewey

(c) =t AR O
Mahatma Gandhi

(@) e g [

Rabindranath Tagore

66. O (HIIH S Rewi bt tafiiE; 2

Which of the following is a charac-
teristic of formal education?

- fa) <3 Frm g-mele [

It is well-organized

(b} 92 frst Siesfrs [0

Tt is lifé-centric

(©) Te @mE H-dfhe i
ar O

There is no

pre-planned
scheme

() TS (@I T TR w13 [

There is no age limitation

/419-B

67. € frwr @ T txw

One of the media of distance
education is

(@) s [

television

(v) Toer O
book

{o) #f@m O

family

(d) SN W ]

Peer group

68. ilaEyy Frwlg S OB w9 tage

The another
education is

name of adult

(a) IS fArm [l

literacy education

(b) AR fmwt O

social education

(c) ~fam-fas e O

family-centric education

(d) caNcare e ]

correspondence education

69.

Wig Eawe faE 2 S0 (&R

The first stage of
development is

(a) AEmFE L
childhood

human

) e O

70.

71

infancy-

(c) @eEE [

adolescence

{d) sem s FE

adult age

BT 9 Y e

‘Hero worship’ is one of the charac-
teristics of

(a) Cgge L
infancy

(b) HieaEs IR O
adult age

(c) e O
adolescence

(d) IFEE Ll
childhood

. forst Tz

Learning is

(@) TSR e stiger [
modification of behaviour

(b) iR e L
power of adjustment

{c) Tom R wiEIy [
acquisition of new skill

(d) <*R3 o5iEgeRnl L
All of the above

/419-B 17

72. RS G WF AT 117 G
FUY (B T2

“Adolescence is a period of storm
and . stress.” Who said this
statement? :

(o) ¥ [

Rousseau

(b) e

Erikson

(cj @frea L]
Stanley Hall

(d) 2<=EF O
Hurlock

73, RGNS (] T TI! 2=

The lowest step of cognitive
domain is

(@) = L]
knowledge
. (o) TR U

evaluyation
(cj sz [

receiving

() @x O

understanding

74, SR M g R FEE

The word ‘adjustment’ was first
used by

@) e 1

Draver

(b) T O
Froebel

() @@ [
Webstar

(@) gz O

Darwin

[ P.T.O.



75, SR e Gl IR

76.

77.

Law of exercise is known as

{a) &% ST weREEa s B O

law of satisfaction and
dissatisfaction

(b) TT= T ST A B [

law of use and disuse

f¢) T S @R s B [0

law of pleasure and pain

(d) S S Rl Al Beiey O

law of exercise and rest

o ofrem wrs wlbe fem
g Rered

Teaching method. related with
sense training is

fa) TSsEsIh smfs [

Kindergarten method

(b) faeffEs smfs [

Huristic method

(c) ToRq s [

Montessori method

(d) ¥F= e [
Project method

“RE R 9T S IR @R
PR (I I ? |
“Play is a joyful activity.” Who said
this statement?

(@) @Fgae [
- McDougail

() T3 [

- Dewey

(c) SR L
Valentine

(@) wreme [

Adams

/419-B 18

78. The Play Way 4347 I5F 2 &
The writer of the book, The Play
Way is '

(u) FTEA IS [
Caldwell Cook

(h) ciEEfe [

Pestalozzi

(c} ¥FEs L]
Froebel

(d) == [

Roussean

79. 4F-dfie Gee PeemE T Sed
qo o
The best way to impart teaching at
pre-primary stage is.
() O ST [

group discussion -

(b) o *mrs [
project method

{¢) FFEs e [

activity-centred fncthod

(1) Efefasd omafs [
play-way method

80. fMwg ﬁaﬁ% JoR e =9 9w
i Cie ey

The first factor which influences
child development is

() g O

school
() e [

society
() “a= [
farmily

{el) Sa v [
peer group

81.

82.

UNIT-V

( Sociology and Indian Society )

Ty R ol 2oy =1 A

The Hindu Marriage Act was
passed in

(@) ssae e L]
1953

(b) >se8 75 []
1954

(c) ssee e (]
1955

(d) Sdbo s L]
1960

“Role is the dynamic aspect of

status.” FYFI I F %ﬁ"?

Who mentioned that “Role is the
dynamic aspect of status”?

(@) o8 @R O

Max Weber

b} SR, &. W6A O
R. K. Merton

fc) TA. 3.. *i% O
R. .E. Park

(@) 3o o' O

Ralph Linton

/419-B 19

83.

84.

351G ‘caste’ *AB G SN 791 A

ReCoR:

Where does the English word
‘caste’ come from?

fa) *reTe O

Portuguese

(b) @ O

Latin

{c) =&8w [

Indian

(d) &[T «Bre 7w [

None of the above

Fifes “fgdm ogfe 2=

Nature of social change is

(@) @t O

uniform

(b} TS [

time-oriented

{c) °ﬁ Feam O
pfedictable

(d) sivifes O

relative

[ P.T.O.



85. ‘Sociological imagination’ SRYFEE!
@I few?

Who propounded thec concept of
‘sociological imagination’?

(@) . 926 e [
~ C. Wright Mills

(b) stafesa [
Garfinkel

(@ ¥ O
Schiitz

(@) & a%5. e O |
G, H. Mead

86, IS AT GBI TRWRE Solmi 7

The element(s) of community is/are

{a) 2 Sl s [
definite geographical area

(p) sz O
group of people

(c) T e e wifer O

community sentiment and we-
feeling

{d) 87 Wﬂmﬁ ]
All of the above

/419-B

87. SN A SAGIBRE

Positivism was first proposed by

{fa) w895 [1
Auguste Comte

{h) Wzﬂmfiﬂ ]

Emile Durkheim

(c) 2H1G ¢osfaplr O
Herbert Spencer

{d) e T2 O
None of them

88. ‘WPl WEF
R

The term ‘Reference Group’ was
first introduced by

() 2=ow [

Hyman

(b) w=ea [

Merton

{c) Afrm O

Srinivas

fcl) ]
Cooley

SRYRETE AU

89. ‘Ol UM WIHRANGE T ©E
(Bl GES 7

Who among the following was .

associated with the concept of
‘class conflict’?

{u) 2R eoeesE [
Herbert Spencer

(b) f&. @5, @@ [
G. S. Ghurye

(c) et gt [

Karl Marx

() &% @9 [l
Max Weber

90.

91,

What is Sociology? WIMd &Z4TR (G19F
Az

Who is the author of the book,
‘What is Sociology??

{a) €25, @¥. T L]
H. M. Johnson

(b) aEE TeEs U
Alex Inkeles

(c) Tt qefer O
Kingsley Davis

(d) =20 oEgER L

Louis Althusser

“RiE AWES TR EE
FUER @ e

“Society is a web of social
relationships.” Who said this?

(o) ool ofE o L
Ogburn and Nimkoff

(b} EFHEeE wiE ow [

Maclver and Page

() «m. <. e [

M. N. Srinivas

(d) TS B [

Irawati Karve

/419-B 21

92. T (PG FEogNr AR AET

SRYRETE SRR ?

Who among the  following
sociologists put forward the
concept of ‘Primary Group'?
(a) . @%5. = Ll

C. H. Cooley
(b} & & [

Max Weber

(c) =&ls e O
Heérbert Spencer

(d) & @v. @i [
G. 5. Ghurye

93. Caste and Race in India 39 &4F
7
" The author of the book, Caste and
Race in India is

(a) &=. & wg L]
N. K. Dutta

(b) &N, &=, #fwem [

M. N. Srinivas

(c) T&. «5. g [
G. 8. Ghurye

(@) F5. @, wgmmE [
D. N. Majumdar
04, ©FF (PG ANGEEEH  FRIIP
TeigErs WAF? _
Who among the following is a

supporter of the ‘formalistic school
of thought’?

(a) T2Ew
Hobhouse

(b} e Seget [

Morris Ginsberg

(c) & o [

Georg Simmel

(@) PR = Rw O

Pitirim Sorokin.

{PT.O.



95. R % W TrMR siesfe @Rl
e THEEE oA
A group. of people organized for a
particular purpose is known as

fa) FE [

society

(b) e [
community

fc) w8 O
institution

(d) wffe [

association

96. oI WNET &7 g R 2
What is the main basis of village
economy?

(o} W g [

Trade and commerce

(b) IR 7 wE qw & O
Hunting and fishing

© IR O

Agriculture
{d) RS WF @ O

Transportation and commu-
nication

97. TPPRAT @MW e Wi
eI FrafEE 2

Who gave the name ‘Harijan’ to the
untouchables?

(a) SIgST AwRm O

Indian Constitiztion

(b} R 99 SR
B. R. Ambedkar

o) @9 @. sid O
M. K. Gandhi

(d) & @5, @R [
G. 8. Ghurye

/419-B
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98. wa Ffew ey wEy e =
Rz @ikt = '

A person marrying outside its own
group is known as :

(a) S@sar O
endogamy
() feefer [0
exogamy

fe) R O

polygamy

(d) sz Rz O

group marriage

99. S (FIH! TIfoy TaRE wam 2

Which of the following is not a
characteristic of caste?

(o) B T aime g sty O

It is determined by birth only

) R cvas q-fay W
w [
Restriction on marriage

() Gt fordzq srafos Ar-Foey of
et s L] :

Occupational restrictions

{d) I sifeferers Wz [

No restriction on social mobility

100. f5qa 35

Norm is

(o) S fem fotser [0

specific guide to action

(b) e Aegfs [

culture of society

(c) TERIPIe Form [

guide for socialization

() N6I] Wemeg ot O .
guide for standard of behaviour

1C1.

102,

103.

: . UNIT—VI _
{ Geography of India—Physical, Economic and Political )

AN -2PF (FS-BIT (Bl ) e7d s 72
White-winged Wood Duck is a State
bird of which State?

fa) ATz [
Rajasthan

. (b) "R [

West Bengal
(¢ Bfes O
Sikkimn
{(d) e [

Assam

Sl A foef|el Tofew
Bhakra-Nangal
constructed in

(@) Ssi0 7S []
1970

(b) Ss¢o HYS | ]
1950

fc) Ssu8 8BTS | |
1964

(d) ssax e [
1972

oReE ARET R o dim
el FH?
How much percentage of rice Indin
produces out of the world?
fa) 80% []
40%
(b} 2% O
29%
f¢) 2o% L[]
20%

(d) 0% I
10%

yaom was

/419-B 23

104, TSI (i HeeoTs SEIEL FRAN S ?

Where is the India’s biggest
agricultural farmland located? .

{a) Roe [
Suratgarh

(b) seeg [

Jarnnagar

(¢) FEprE O

Bilaspur

(d) ieEsy O

Coimbatore

105. SR SYNS S 42@0 T3)1504
(L7

Which of the cities is the biggest in
India in terms of population?

(a) FEFSt []
Kolkata

) = O

Lucknow

() TR [

Mumbai

(d) @Az [

Chennai

[ P.T.O.



106. 59 (PG SR TSR T ST 9

107.

108,

Which of the following is the main

stream of Avadh Plain?

(@) F L

Yarmuna

(b Ry O
Ghaghra

c) e O
Son

{d} e [
Gandak

M@ TS SIS T (IR Srel
A 2 T 7

Which of the following industries
was first established in India
in 18517

fa} 9GO
Jite

(b) 7= [
Cotton

) EwF e O
Iron and steel E
(@ o O

Sugar

SRS (P IS (A A 279

Which State of India produces
gold?

fa) SfEmtg [

Tamil Nadu

(b} TfBe O
Karnataka

fc) Sweom [
Andhra Pradesh

(d) @ [

Kerala

/419-B
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109. tgRo @ 7o B Slaer avw

‘110.

111%.

TR e SRS taRke?

In which year of the following did
Sikkim become an associate State
of Indian Union?

fw) 54y [
1971

() Svae []
1973

f¢) >sae¢ [
1975

(d) %99 O
1977

ASEANT Sl Cafte
ASEAN was started in

fa) >s0 575 [
1970

{b) >5b5 e []
1969

fc) S>%k oo [
1968

(@) S5%a 5735 []
1967

S e T ST ?

Where is the Saramati mountain-
peak situated?

fa} <5t #q [
Naga Hills

(b} e ARy [
Manipur Hills

(c) SN ogT
Kohima Hills

() et oz O
Mizo Hills

112,

113.

T @R SRS 4T SRR 93
w9

Which one is a part of Eastern
Coast of India?

(@) = O
Konkan

{b) IERIY ]
Malabar

(¢} Fwes

Coromandel

(@) whwa Gogsr [
South Coast

SAARCT 4 FHfieR 'S WEEe ?

Where is the Headquarters of

SAARC located?

fa) g T [
New Delhi

(b} wioarg [

Kathmandu

{c) ot O
Dhaka

(d) Feca L]

Colombo

/419-B
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114.

115.

qE?

How many foreign countries are
touching the boundary line of
India?

fa) » [
6

by a U
7

| fc) v O

8

(@ > O

9

T e S8 TR T WS TEES
sl 9 T

The name of the mountain range
located  between . the rivers
Narmada and Tapti is

(a)Wﬁf I:l

Aravelli

(b) = [
Vindhyan

fc) TeolEl O

Satpura

(@) SBR[
Nilsgiri

[PT.0.



116. TH2HI [} 5 Q@ wimae w97 742

117.

118.

Which metal
bauxite?

f@) =

Iron

() afrshiferts [
Alumi_nium

() ©% []
Copper

(d) e [
Gold

is produced from

TS (FITIW JCS Fo-4ie 244w 7
In which State of India is the Rann
of Kutch located?

(@) =g O

Maharashtra

(b) o [
Karnataka

{c) IEEm O

Rajasthan

(d) e%an O

Gujarat

El HFE S SIS SIIEIY il

z'H
The place of India in the production
of iron and steel is

(@) a5 [
first

) B8 O
second

() v&m L]
third

(@) vt O

fourth

/419-B 26

119, S @R PTT Gg A HNE
o T

Which State of India is known as
‘Tiger State’? '

fa) @e_ic []

Gujarat

(h) “Fsseat O

West Bengal

(¢} Tgar™ [
Madhya Pradesh

() =er [

Assam

120, oo W &9 Wiy 2/ 6
iy

How many biodiversity hot spots
arc there in India?

fa) 8 J
4

(b} e (]
25

fc) wg [
34

() we O
35

UNIT—VI
( Tribes of India and Tribal Development )

121. e SRl dfedite Sapie o3
OB 99 ofar TS 331 =RF 7

In which year the Grant to Tribal
Research Institute Scheme was
started?

fa) ssad> [
1971

(b} s5s» [
1999

fc) Ssva Ll
1987

(d Sse> O
1951

122. TR TS FF EERH i
sRemre fest Ta1 e

In which Five-Year Plan, way
Multipurpoese Tribal Blocks’ set up?

{a) dem [
First

() "y O

Second

(c) ogd [
Fourth

() v O
Third

/419-B
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123, OF7 (TG SIS *rmees ?

124.

Which of the following tribes is
pastoralist?

(a) fear O
Tiwa

(b} Gt O
Gowala

(c) T 1
Bodo

(d} 89 i w=w [

None of the above

R YA ﬁﬁﬁﬁé 45y =
@R TR et geiTs

fewcy

The tribals of which State were

affected due to ‘Mahanadi Coal-
fieids Limited Project’?

{a) ﬁﬂ?. ]
Bihar

(b) =g [

Maharashtra

¢ == O

Assam

(d) St O

Odisha

[ P.T.O.



128.

126.

SRER F-oifds A PrE ww
o oew'y wRE D eef
forere Tt e ?

How many tribes have been
identified by the Anthropological

Survey of India under the ‘People of
India Project’?

faj 8%y [
461

(b) sex []
4_32

fc) >48 O
174

(d eee O
555

Y RIS GeReTRE e p a4
JRA?

Which of fhe following is the cunise
for tribal displacement?

(o) 2w B [

Development of projoctu

(b) AT 4 S [

Rich mineral source

(o) Tw B O

Construction of dams

{d} €71 wbEEEn [

All of the above

/419-B
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127.

128,

205% T GIRPRE SRE@ o 1
SRR FE 2101 Spfe weife 7

What is the percentage of the
Scheduled  Tribe of Assam
uccording to 2011 Census?

@) S¥-8¢% [
12:45%

{b) >508% [
19:34%

fo) W-¢% L[]
28:5%

{d) w@&9% [
35:7%

@bt S Sub-Plan Scheme for
Tribal Development (SSTD) _g
[P p

In which year was the Sub-Plan

Scheme for Tribal Development
(S5TD) started? "

fa} Ssax O}
1972

() snav [
1956

() s [
1987

¢y »»a8 [
1974

129, (FF GISren SFwE I ‘o

130,

131.

Fltor wfafer?

Who proposed “Panchsheel’ for
tribal development?

(a) 3T SR [
Indira Gandhi

(b) TS wxieae Gies [
Pandit Jawaharlal Nehru
fc) A& omiE [
Morarji Desai

(d) = e O
Narendra Modi

T PO wAEite N (RS Fsre
oS ?

Which of the following tribes in
associated with Jhum cultivation?

fa) ffz [
Mishing

(b} T O
Tiwa

fc) =K O
Karbi

(d) Iem O
Bodo

2035 TR @R SEd SRl
PIT IRES S Tereifis TqpT 3097
Which State of India has moe
concentration of the Scheduled
‘[ribes according to 2011 Censuny
fa) =N

Assam
(b) S [

Odisha

(o) AT (]
Madhya Pradesh

() Rare O

Bihar

/419.B

132.

133.

TSR i 7'
The characteristic of a tribe is
fa) FEIRI SEETRRGIT ST A 4 [

isolated from urban population

{b) =TI Gz [

a simple life

(c) TFiE icgles @iy [

distinct cultural features

(d} 87 wipREm [

All of the above

TRER  STSSw  Sagw

(ITDPS)_______ PRIT IRemmre Ifts
<1y |
Integrated  Tribal Development

Projects (ITDPs) was delineated in
the Five-Year Plan.
fa) AN L[]

Seventh

- {b) 7w [] ,

134.

Fifth
(¢ ® O
Sixth

{d) sz [
Eighth

AR AR vl duw @R Wi
c=fez?

In which year was the National
Extension Scheme first started?

fa) Sseq []
1957

b} Ssex [
1962

fc) Ssae []
1953

(dl ss8> [
1949

[PT.C



135. S5 MU Sl Sorm A w59

136.

137,

Which one of the following is not a
tribe of Assam?

o} = [
o Adi

(b} f&at [

Tiwa
(c) Wiz [
Mishing

(@) Ty [

Dimasa

R S5 S RTwre"q B Cofiwn 9
In which State was the ‘Bhil Revalt’
uprised?
(@) T&AT ]

Andhra Pradesh

(b). s [
. Assam

(c) wgeem [
Madhya Pradesh

{d) (LT (I
Kerala

PTG 9T
PT'G stands for

fa) Prominent Tribal Group | |

{b) Primitive Tribal Group | ]
{c} Parent Tribal Group .|

{(d) None of the above ]

/419-B
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138. SRR J-offer e mmaﬁ“

139.

140.

e

In which Year was the Anthro-
pological Survey of India estab-
lished?
(@) s»8e O

1945
() Ssex [

1952

fc) Ss8y [
1948

fd) ssux [
1962

I (P G @ﬁ"fﬁ@m

(TSP} Irey 9247
Which of the following is not a
Tribal Sub-Plan (TSP) State?

{o) g O

Punjahb

(b} FoF [
Karnataka

fc) =[]
Assam

(d) s%% O

Gujarat _ _
SR AN TR | oTeeiR
BEEIS FF GAGIOH TS AqTe
The urban expansion of Guwahati

to

@) o&q [
Deori

th) @1 1% et [
Karbi and Bodo

{c) Gt s=@ [

Sonowal Kachari

() fr
Mishing

has displaced the people belongmg

141,

142,

143.

144,

UNIT—VIII
( Logical Reasoning and Numerical Ability )

3

M x T 60% =y 4 7 T =, o

X YT

If 60% of x = % of y, then x: yis
fa} 9:11 [

(b} 4:5 []

e} 8:5 [

(d) 5:4 [

90 . fit. o4fs ¥t wfe woix @it

A ?

A speed of 90 km/hr is same as
fa} 25 m/sec [l

(b} 35 m/sec []

fc) 50 m/sec [

fd) 15 m/sec (]

22, 33, 66, 121, 277, 594 T
AT FIH =

The wrong number in the sequenc::
22, 33, 66, 121, 277, 594 is

fa) 22

(b) 33 O

{c; 594 [1
(dy 277 [

100 fii fier @=ardt @i 120 Bf
ofs 35t wfiss vier g | eretiEs Fhre
U ¥ R (TR WF_EFSI {4t
W Fifag

A 100 meter long.tram 1s running sl
the speed of 120 km/hr. The time
taken by it to pass a man standiip
near the railway line is

{a) 3 sec [
{b) 5sec I
fc) 1sec [
(d) 9 sec [

/119-B
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145,

146.

CPITT R A oq wqe 15 o9
27 BN 2 Jod 29 37

The rate at which a sum becomes
four times of itself in 15 years at
simple interest will be

fa) 15% [
{b) 20% O
fc} 18% L[]
(d} 22% (]

2,800 51 1% T5TS 10% o9 37
5% TS T
The compound interest on ¥ 2,800

for 1% years at 10% interest per
year is

- @) 434 []

147,

148.

(b) T421 [
fc) 441 [
{dj €430 [

61 x 72 x 83 x 94 x 55 x 46 x 37 x
28 x 199 QUGS GFPY PG SG!
EX

The unit digit in the product of
61x72x83x94x55x46x37x
28 x 19 is
@ 1 O

fe) 9 [

(b) 0 [
(@ 2 L[]

10009 #15t® @5 B9 = T FHRLYHI
45@ Rl Rem Tw a
I S A 77

The smallest number to be added
to 1000, so that 45 divides the sum
exactly, is

fa) 30 O]
fcg 35 O

(b) 25 [
(dy a0 [

[ P10



149,

150,

151.

253144 _ 0471 4 500w 2ad IR
ST 'Y

The remainder when
25314 _pgq7111 trcdivitleed by 500 is
(@) 5 [
(b1 0O

(c)zlil.

'(d) o Ol

T a2 +b2 + ¢ =1, Culeh b 4 A
g

If a2+b2+02=1, {1 ihe
maximum value of abr i

1

(a) WS
1

) 3 U

(C)ﬁ']

(@) 3 0

B ORAA TS 314 G e
AR, 84. Sl HB 25

- Two numbers are in the ratio 3 - }

and their LCM is 84. The numbers
are

(@ 21,28 []

(b} 18,21 (O

(c 21,24

d) 12, 16 [J

/419-B
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152. i §=%, o3 gz;gam:r:’a
Il‘g-—-%,thenthevglueof 22;2 is
@ 3 O
) % [J
@ § O
(1) 2 [

153.

154,

3456+12+8 =7
fa) 36 [J
{b) 63 ]
c) 28 []
() 26 (J

| EN
Yfyy =92. @ —= '
" 6 =2.449, (= zﬁaww

Il V6 =2.449, then the value

) Bﬁ is
203

fu} 112245 [

(h) 1-2245 []
fc) 12145 [

{d} 12244 [

155. q% x¥ < y* | coem (

156.

,

3

If x¥=4y* then [

; J is equal to

"-u...l

fa) xﬁ_1 O
‘b) xv [
(c) xu™

X+l

0
(d) x+ (1

5% 3% 8’5
3%. of 5% is
{a} 45% []
®) 15% [
¢} 60% []

(d) $*1R9 NG4S w2y []

- None of the ulove

157, R T T qbuis) w7 caporps

45 TI| 5 2T wlite Priey 4
BT 34. AIFT T 95 TaT

The sum of present ages of father
and his son is 45 years. 5 yearn
ago, the product of their ages wan
34, The present ape of father is

fa) 37 1

(b) 38 [

(¢ 35 [

{d) 36 ||

/419-B
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158, 10g347 ERC ?{.a:f

The value of logs,; 7 is

1
(a) 3

[
(b):f; J

{c)

s XY

i
O

(d)

159. 392% 3’9

2% of 3 is
fa) 0-06 (1
(b) 0-6 [J
o 6 O

1
d) = G._

160. &% T2 100 B91® <t 37 Rl TR

15 B 51® R0 | aAreq Toiey 2'ay
By selling an article for 100, a
man gains ¥ 15, The gain percen-
tage is

1 o,
{O’.} 1217/6 D
. 1 )
{b) 15-—17/0 |:|

© 1710, [
17

(@) 13% [}

[P.T.O.



161, TS Wl Gelht i <l s -

162,

| UNTT—IX

{ Commerce and Managemont )

emter effeesiep <o

Which one of ithe following in not a
barrier in communhation!

Noise
() =2 []
Affection

(c) =T O T | |

Fear and distrusl

(d) wygls L]

Perception

9Bt CHAINT TR TS el el
% w9 #ra

A company can reissuc iln forieites]
shares

165.

{a) '\'ﬂf@ﬁ@{“’ﬂ@ ]

at a premium

(b) o e [

at a face value

"(c) G s [

at a discount

All of the above

j419.B 34

164.

163. (0199 Turm 9 SR
Accountling is a language of

{a) fEuiveres [
aceontant

ih) e [
information

fry dladees L]
customers

(e} Tz [
business

Ml FHRo7ge e BT Trfegd 2w
Workmen’s compensation fund is a

{ct) A [

provision

by A
surplus

{e) vigrs g [
current liability

() st [
loan

qlerdl qe7  Rfweee 5@
(R 20 ?

Disinvestment in public sector is

called
(a) TFETeFe [

privatization

(b) cotrREpd [

globalization

(e) Tuigead [

liberalization

(d) SwgiEed [

industrialization

166, “RBIT MHE @ B w1
23 o

How are principles of management
[ormed? .

fct) AT HEArE [

In a laboratory

(h) AR wfowrs wEt O

By experiences of management
() A9 SiSwog g [

By experiences of customers

() i R oedam qar [

By the propagation of social
scientists

167. (TG 2R et fmged qrE erare
7

Budgetary control
preparation of

fa) eiféree IR ]
training schedule
(b) ST O
budget
(c) 6% =efs B [

network diagram

(d) RIS Fw [

responsibility centres

requires the

CTQF 7~ FeoIth o'
The full form of CTQ is

1GB,

{a) Critical To Quality []
{b) Contimie To Quantity []
fc) Control To Quality [

(d) Critical To Quantity [J

/419.B
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169,

170,

BEP f&%3 30 sty g9
BEP is a function of

o) TR “fame

sales volume

(b) T I

cost

fc) =rs [J
profit

(d) R =fwe, on o @ [

sales volume, cost and profit

TAfEHR AYReITe Yg5-719% & 45w
R =7

Assets are usually ' shown in
~ Balance Sheet at

(@) W [ \

unexpired cost

b Reaww O : |

replacement cost

{¢) IS O i

revalue cost

d} T/ O

market value

171. =591 @ T8 =7

Depreciation arises due to

(@) “T=oifss ST Sl []

physical wear and tear of the
asset

(b) TR TR T TS [
fall in the market valie of an
asset

.(c) 4R Y1 Swfs [

fall in the value of money

(d} ST 9Bre Fzy ]

None of the above

[ P.T.O. -



172. TR smofes guwnmll (v Awd wiEqy
BRETF Fo) HWULD oirftt Hello] HHBRS
TR oA @ H AP BE gl marr Y

The assets thud can i converted .

into cash within o aluwnt peciod (e,
1 year or less) wive ftiwn o

{a) BRSSPl | |

current asseln

(b) "aﬁ‘n sl (]

fixed assets

(o) wr=epfilm el | |

intangible asscin

{d)y Ri=eme O

investments

173, TS @I @ fflias ua a0
HEF (I AT AT 451) e by

The sales income (credit wundl +anl)
of a business during o pivei pitionl
is called

fa) GO [

transactions

(b) & e [

sales return

(c) & wpre O

turnover

(d) & e O

purchase return
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174. T Wl @l Reeae @ @i
a6 B @ T 6y Rfes Tam
izzei e

Which of the following is a
statement showing the financial
status of a company at any given
time?

(a) e B [

Trading Account

(b} IS SF @G ot [

Profit & Loss Account

(o) Tgg-o@ [

Balance Sheet

{dd) w57 A% [
Cash Book

175. e widfie o Sya- s @I
| 9

Share premium ig shown in the
Balance Sheet as

fr) et o i 4 O

deducted from the asset side

() ol L
o linbility

(c) s g Aat g & [

a deduction in paid-up capital

() iy [

An asset

176, CHT efdter Al T ||t e
el S Y
Sole proprictornlip is most suitable

for

{a) STERE AT bl ]

mediun-sonle Coneerns

(h) T8 qieilfp vbadneg 1)

lrpe-senle concerns

fcf s A l)p vibotta ]

sl vicule cone oy

(d} S Wbl -5y ||

None of Ll alwwve

177. w1 49 Ay efsdlie o fs e
eyl A7

The Urban Credit Cooperatives are
also known as

fa) AEN s ]

Navtintin! Banks

(b} 1A ey e [

Urhis ¢ n ipirrative Banks

{c} RN e |

Coopwaaitve Thimks

(d} Soq il azy ||

Nond ol thie abiwe

/419-B

178. TI9 (FREIKI ERARR
BIRG Re—product, pricing, place,
promotion® ‘qul4 fux’ fipre Hfye
FE?

Who suggested (it product,
pricing, place, promotion —all these
four in a compiny represent
‘market mix’? '

(@) & @A [

Neil Borden

(b) @& [

Nielsen
(c) Feforrt 35 O
Philip Kotler

(d) BmIm [
Stephen Morse

179. USPT 7™ TGt 7'
USP stands for

{a) Unique Selling Price [

(b} Unique Sales Proposition [
{¢) Unique Selling Proposition [
{d) Unique Strategy Promotion [_]

180. =AM ofedims b 42T wiEHore
g e 2 |

" Is a partnership firm considered as
a separate legal entity?

o) 778 [1]
No

(b) =@ [
Yes

(c) e 3y [
Partially Yes

(d) @Rq «Bis W= [

Nene of the above

[ P10,



